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Note : Attempt all the three sections, as per instructions given 
at the beginning of each section. 

SECTION - A 
Attempt any two questions from this section. Each 
question carries equal marks. 	 2x20=40 

	

1. 	How does Industrialisation affect : 
(a) The composition of GDP, and 

(b) The composition of the work force in an 
economy ? Illustrate your answer with 
evidence from the Indian Economy. 

	

2. 	Examine in brief : 
(a) Trends in industrial growth in India since 

1990, and 

(b) Recent changes in industrial structure in 
India. 

	

3. 	Private capital and enterprise have been assigned 
a greater role in the present economic policies in 
India. Do you agree with this statement ? Give 
reasons. Also suggest measures to improve 
corporate governance in India. 
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4. Analyse and differentiate between different view 
points regarding location of industry. Do you 
think industrialisation has promoted balanced 
regional growth. 

SECTION - B 	 4x12=48 
Attempt any four questions from this section. 

5. What do you mean by globalisation ? Also 
examine the challenges being faced by Indian 
industry from global economy. 

6. Examine the role of Micro, Small, Medium 
Enterprises in the present phase of 
industrialisation in India. 

7. What are the different sources from which 
corporate sector can raise finance in India ? Also 
examine in brief issues relating to debt financing 
in India. 

8. How does the nature of market structure affect 
pricing decisions of a firm ? Also examine the 
limitations of mark-up pricing technique. 

9. How have the liberalisation policies affected the 
role of trade unions in India ? Make suggestion 
to make trade union play a more active role. 

10. India has emerged as the fastest growing economy 
in the world. Do you agree ? Make suggestions 
to make growth more inclusive for all sections of 
the society. 

SECTION - C 

11. Write short notes on any two of the following : 
(a) Digital India 	 6+6=12 
(b) Any one Social Security Scheme launched 

recently 
(c) Jobless Growth 
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